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I.* Find the equivalent inductance of the circuit below. Ly =5H,L, =2H,and M = 3H.
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2. In the circuit below, using node analysis,
a. Find the current i.

b. Find the power dissipated in the %Q resistor.
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3. The circuit below has been idle for a long time (switch is open). At t = 0, the switch
is closed.
a. Find the inductor current right before and after the switch is closed (i,(07), and
i,(0%)).
b. Find v, right before and after the switch is closed (v,(07), and v, (01)).
¢. Find and plot v, (t).

WY 16h 100
100 —OI—W—
100 t=0
W——)— |
100V 50 %vo(t)

¥y 4 -
a, [¢ me/ D oAb g Wy wme by €20, Me,
pﬂ&wah)/' AL} ay 4 yuwr “r bz o .

Comtryrent
Cf%ff
at ey
122V +
Vto™ )
Reqok TRy 2 h:zi/wm.
YL
lbfv Fewdz Y22 ks

vet, 2 5oz 1A

' VL
BY YL, Lylhase o gy m '
Auvry)) Mwﬂh@awb\/ fwb—p’— _‘,{5

e Mndlby oy e v Lty suyiry (5 oy Joe U So
f - 7
,‘",wfizf vy LO7) Bu—tb-'c}?‘ "t/*'/ -t—‘/?L fj
b’ bool ap QumVakent drowk o 4207, Shae et 0 )z © -“)-a:\;j
Voo ) fu,p"‘) 12.; - 4 A)(S wrz oV le (o 7= !

6




Cami’eayent it a4 2 o

Vi-
Vi -

WA farly

~)
'f

/
Ey kel “WEhryAze iz Y3ty 4

437 kVvL . <o v v v;J"VaCoUZO
ViFVy L yylory 28V
l,;‘z\ le 2y Flikyz looV
Cl‘f;rv\) R\E‘L;@;f(/{;kq)gql s o

f ‘
7 (mmz,,,/,zb\) iz fop 48y -y Ry
(4 ztua—wm~qu,wb Yoy —1C5) #
’Z‘VHZ%V’Z*'\ o+ 1o+

- 60
o= 22 42 ’Z AT %A'

V(or)‘znﬂ(,’Z_ (,{;;H{)E.., CSA?"‘]A’)C,{«/L)

z sV [&LD’?ZZ&V/

o oY STt og M0, auri ay 5(.“,,7,(47 &/ -(—5
MV&P‘-&W?‘ Grewly at Froo

AR X%
NS A

L—— v/ |
Zin |
s TN
\
_emmlew‘)‘” Peqz 17 Ry /IRy Yo
T R ™y RY =
oo (2 ! eq ¢ e rvw"IZz?.}‘ '

, () L Gnp (o) A >

o TVOIV
- DAY SNt A LY S



B*; KVL olrase acimsls 2esz Ipo vV

o
e Bev 122y L5 4
neq, %o

Voloo)z [\ Ry = (CSAICI-n )2 25 Vf\g
9 DC /v for €<0o, ezl (o)
Vo0 lwo) b vy (oti-vyiomy ¢~ %

My caie g b Vore! Req (£ Re, Cac)

Teq () b
6 1 %o Recy ]
A Toon C © g ><
pal
©'S

S0 Vete)w 1S v FLBV- V) e

“ € (o€ 20
TSV ¥ e

P ————l

L6 Vv for tL o

v T

W (€)= |
2V for €20
Vo (X7
A |
ZEV’ //'LZ 0‘8
SPEVERD M ————




7 ez by

2 Ve o “27’_0;“‘/"2—2_,4,

e LN LA
‘ ;Z/L‘A'i

1 2

Cvn""._ Ct,-2) , ¢\ v-r7°)
s —

iy W3 VY A

- lf_l.- z He w
\ry

|
EM“ © WJ 50






